2-6
Algebraic Proof




Reflexive: U=

Symmetric: |€ t?l-zb, Hen b=a..

Transitive: | p=

b and o=¢, $nen a=c.

Al




Addition/Subtraction:
It 9‘:[9; +hen 2+C = b+tc.
A~-C = b—¢
Multiplication/Division:
< &:b}-‘mp_n oc=loC.
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Substitution: H a=b HHhen o maﬂ
/
ve replacecl by b

Distributive: ( b + C) = ab+ac
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two-column proof / formal proof:
statements and reagons

organized (n 2 colunms

statements: oqg¢ly SJYQP

reasons. PYD?thgs _tm.b( Jugh._ey

each step ]
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Write a two-column proof...

If 3(x - 2) = 42, then x = 16.

Statements Reasons

1. 2(X-2)=47 1. &(\yen
2.9~ H2)=92 | 2. Distcioudive,
3% - =97 |3 Swostination
2 3-vl= 2+, | T Addition

2. 3x =4g ‘ 2 SUstiution

?{- Divigior
" Subiiiiop




e
Given: ——-n=4-—n
Prove: n = -1
Statements Reasons
1. Z2-n=4- 1. Given
2 1( -h)"' 2(~{-— ) 2. My ltiphication
3- Dist v ibutive

4-"*‘11'1 tn=g-nag | 4 Adddion
2.1-n =3¢ 5 SubsTnAToN
g- T-n7= R Suwcm«\

70z 7 Supgtion
9' :1' = = ‘;’\\f\&\bﬂ
h=- % Swo o




Geometric Proof

Reflexive

Segments: Angles:

AB -_-J% mZ_ | =w i (

Symmetric

Segments: Angles:

KAB=CD X0 (DR Wwml\=mi2 tiney
ML2=my |

Transitive *

Segments: Angles: \§ v, L |= L
l‘(\P\B:(_D O«M QD:E% Q“dmlltf}ﬂ_:
e ﬁB:‘EE o n mLl=m 2




Given: m.2=60
Z2=/710

Prove: m.-210=60

Statements Reasons

1.ML2£60 1. Giyen
L) =10
2. ML2.= mL\O 2.defn. of o2

2- ©0 = W \0 2- SWostihutign
- L= 0 - Omm et
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Homework:

0.97 #3-10, 14-23, M
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